


g/ha/

COD TN TP
38.3 15.6 0.54
39.9 10.0 0.33
41.6 56.1 154 239 |0.308 0.428
38.7 3.8 0.22
46.9 11.6 0.88
31 9 0.79
78.73 4.93 0.83
89 18.2 0.48
119.35 8.98 0.56
156.74 13.79 0.80
270.31 19.20 1.25
95 16 0.29




H H8 1 2 13.6 ha
H8 2 10 11 14 154 ha
S53 723
H6 1 10
5.2 ha
ha
S57 3 ) 2 4
S58
H6 1 17.3 ha
S63 H2 |6 12
S61 3
H15
H9 H12
H9 H18 1 5920 ha




390.0ha

H3 H4
233.9ha
12 23.3ha
H18 4
161.9ha
N=234
625.8ha
H19 H20 2
N=101

L-Q




COD TN TP
m3/s m3/s/km? mg/| mg/| mg/|
0.154 0.039 2.0 0.35 0.007
0.776 0.199 4.0 0.71 0.016
H3 4 0.033 0.008 0.8 0.19 0.003
0.047 0.020 1.0 0.36 0.006
0.184 0.079 4.0 0.98 0.040
0.014 0.006 <0.5 0.13 <0.003
0.007 0.031 8.5 1.06 0.070
0.013 0.054 61.1 1.85 0.441
0.003 0.011 2.1 0.42 0.017
H18 0.114 0.071 5.7 1.03 0.055
0.240 0.148 19.5 2.43 0.214
0.008 0.005 1.6 0.41 0.025
0.234 0.039 2.8 0.48 0.023
H19 20 2.399 0.400 25.1 1.43 0.190
0.064 0.011 1.0 0.27 0.008
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(

g/ha)

COD

TN

TP

H2 3

2005
2006
2007

H18

2005
2006
2007

H19 20

2005
2006
2007




25,000 5,000 300
4500
20,000 B 4,000 L 250 B
3500
200
15,000 3,000
2,500 150
10,000 2,000
1,500 100
5000 1,000
50 [
500
0 0 0
H2 3 H18 H19 20 H18 H19 20 H2 3 H18 H19 29
242 133 42 .3 20.8 2.09 1.12
55 16 0.29




